Приложение к уроку (индивидуальные задания)
              I  

6 правильных ответов – «5» 

                                                                                   5 ответов – «4 

                                                                                   3ответа –«3» 

                                                                                   меньше 3 ответов – «2».

Выделите те предложения, в которых используют Present Continuous Tense
1. Now he is drinking coffee.
2. My mother works at school.

3. She is reading at this moment. 

4. He is a doctor.

5.   He is doing his homework now.

6.   She is a nice girl.

II

6 правильных ответов – «5» 

5 ответов – «4»

3ответа –«3» 

 меньше 3 ответов –«2» 
Вставьте правильную форму глагола to be
1. They   …   playing football.

2. I   …   reading a book.

3. He   …   having dinner.

Задайте общие вопросы к предложениям

1. He is sleeping.

2. We are helping our mother.

3.         She is going to school.

III
6 правильных ответов – «5» 

5 ответов – «4»

3ответа –«3» 

меньше 3 ответов – «2».
Задайте специальные  вопросы к предложениям, начиная их с вопросительного слова в скобках

1.He is sleeping. (Why)

2.We are helping our mother. (Whom)

3.She is going to school. (Where)

4.They are cleaning the room. (What).

5.He is walking. (Where)

6.They are playing well now. (How) 
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